H & 0l & AHS B Ml A

0243 20ilaF Lete ) Y X2 0
SENEN!
HEPADN e~ s
=HaE est £9f (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
2o 32,084,873 25,598,821 6,486,052
= 1,492,707
= 30,372,166
CH 220,000
=3 78 7,166,133 8,343,206 1,177,073
= 67,805
o 7,098,328
NStE gfet =of 230,400 253,750 A\23,350
N3 Hal 230,400 253,750 N\23,350
202 04| 230,400 253,750 N\23,350
04 =Xl=todb] 230,400 253,750 A\23,350
OFY - © MY U AMp ols
180,000,000 * 14! 180,000
O uSH ol
5,600,000& +9H 50,400
XEY dINA 783,541 961,193 AT77,652
= 2,500
[Ea 781,041
CHLH2! ALK 39,152 103,924 NB4, 772
201 fet= 3| 23,232 87,504 N64,272
01 AtR2t2|HI 11,232 29,504 A18,272
OULHRI HAF=E SZHI(SH)
8,000« 13 +02 122 11,232
03 A2 I 12,000 58,000 246,000
OULHel F=QdAt =&
12,000,000& » 14 12,000
202 04t 10,920 10,920
01 =LHOHI 10,920 10,920
OZEQUMN ZF U E2(BY)
130,000 7 * 122 10,920
203 =4l 2,000 2,500 A500
03 A=A 2= 2,000 2,500 A500
OAIBFT AR =] 2,000,000 2,000
301 EtE NS 3,000 3,000
11 dAMEEIXIZE S 3,000 3,000
Otiuel =it 3¢ 5 24
500,000& »2E <32 3,000
EaSPARSESS| 163,190 206,652 N43,462
201 er=23y| 43,000 43,000 0
01 AtR2t2lHl 23,000 23,000 0
Oz=HIAd 2] 18,000,000 18,000
OJCtIH BHAI M= 5,0002*1,0004 5,000
2 35244l 20,000 20,000 0




od
i’
oF
uJ

[oN] <
g8 5 8 BE|S 5 |88
A0 gz 9 o o0 & ¢
]
o = S BIL|B R 218
© N > S vl | i) S|S
s g8 & 3 gleld 5 8| <
(o]
Lilkd
RIS
8 8 8 S8 I8 SsSS8II8 8 9 IR|S[IR 2388883 S8 8 8 3 %1388
(@) (@) (@) OSOf—|™M ™M 1O U NN N O © 06) O O O IHW|N|™ o O © v o O (0>} S O QO | © | O
~ 8 o SlgleegRpnOer & 0S¥ Amm%, Lo -dw Sg @ vg gln|o
3
<
S
x X k3 * x X — AN — * —
W oW W W S S SsS g S S S wWEWE YN S A ® e
o |5 2 8 5/ | 2 &8 88 8§ 2% % =Eegd 88 F 8 =%
M_v W m m W © 3 © 1~ ol EO4 < < % % M S o) < o W m M o)
. ~ © © © il N < 8 g ¢ s Ug
30 ) 2 S n S
= Al - P <F &
= — ) a0 <+ oK —
L o & 5 B ol y WA R
= _ ! — ) K oF K. o K
. =) %_m m ol KE 5 K+ oF T ®r M <t A0 ]
=13 2 om 8 QR @R = = 5} N B w0
G S R I i IR 5 O o
FIH 2 = B o b o ks <a & B LA T A e i
=T B ﬂ W =< |s|s & F 8 z & k& o O %0 S| % = o <l FH MW oz W
o 5 W gl zgrear My | Inz® "TwHows ®r B ® O =
= = o M W |k|ow B S S kb K- @ R0 RO o Ko B (B0 |oy|my ¥ F MW OOER o o) o oy o =
oo omor » jola e g MAEHE oW AR |Yyg R R B HE 5|
K &l < &J &l Al N~ RR = < I I [ o- ol |< W™ M R HO o) <0 gl < <J Mo KO | r
* O O O O o= 0 o O o O == O O O O O0O0 O O O o O | =
I+ 3l




SN BETRD
B [x2E P
el HEE dEAE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OLIALZEHE S AR 3,600,000& 3,600
OAtalHSAH (154 012})
1,500,0002 x2&H 3,000
04 =Hl=todb] 45,000 84,000 A39,000
OArzlH S =(1548 014)
3,000,0002 15H 45,000
308 XtXIEMSO0IE 21,117 7,831 13,286
18 SIS0t & A AS A 21,117 7,831 13,286
OHEZFXNLOIANZBAIAE S 24|
21,117,000 » 14 21,117
SN 2 15,000 15,000
303 Z&a=s 15,000 15,000
01 o= 15,000 15,000
O&IIZH & ZHIRE MEAE
15,000,000& * 14 15,000
ol 24 XI& 93,500 92,038 1,462
307 lztol & 93,500 92,038 1,462
o7 g=Xs=a 93,500 92,038 1,462
OAE =22 5,440,000 »65%+25H 88,400
OMRx50 5,100,000& 1 5,100
oS 23,240 27,640 A4,400
201 fer= 3| 23,240 27,640 A4,400
01 AtR2te|HI 17,000 21,400 A4,400
OZdHld i € BEE A
2,000,000& %12 2,000
OF2A90AIg & Z2UEIN RO
24,0002 252 *42] 2,400
OZ2AE 82 ME A
3,200 *750 2 +43] 9,600
OXdxergolz 24
3,000,000& *14] 3,000
2 S5=2g4l 2,400 2,400 0
OzeAS B8 g g5 REe=s
1,0002 600 *42] 2,400
03 A= SHI 3,840 3,840 0
O=21tel et It HE SAHI
8,000 x80H *63] 3,840
SEXAANZE 2 7,500 3,000 4,500
< 2,500
[Ea 5,000
201 =3 7,500 3,000 4,500
S 2,500
= 5,000
01 At2tltl 7,500 3,000 4,500
O2024 =XIAH A2 2 7,500,000 *14] 7,500




A HEX2
¥ Ix=ZE +
ok PSS

g7l XEE 23AE EERE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 2,500
s 5,000
TQlol & J|g AL 107,980 64,380 43,600
201 er2 3| 99,480 58,080 41,400
01 Al 22| 19,480 18,080 1,400
OR0Io] & MAIPIRE &g
70,0002 %14 980
O=29] & HANZ M
30,0003 »50 1,500
Oozele 35 & I MX
1,500,000 #7522 10,500
O=&d M& 2,600 *2,5000H 6,500
03 &A= 80,000 40,000 40,000
OHMlg2==E &ebzdlol & J184
80,000,000 *14! 80,000
301 LELE NS 6,300 6,300
11 dALEEIXIE S 6,300 6,300
OARl Tt E&t= 1,000,000 x2H 2,000
O=0S A 282 300,000& %1 300
oAM= 08 2d=
2,000,000 #28 4,000
308 AHXIHMSO0IA 2,200 0 2,200
18 SO 2SS & AS A I 2,200 0 2,200
ORMie2==E ZIotzelol & AL EE2H|
1,100,000& *24] 2,200
ES e N 2,000 2,000 0
201 er2 3| 2,000 2,000
03 A= SHI 2,000 2,000
OEge? AN 1,000,000 22 2,000
A== A 2,456,039 2,549,169 A93,130
R Y= NE 361,126 337,550 23,576
101 ©1AH| 220,309 213,257 7,052
04 JIZtN2Z2 XS E+ 220,309 213,257 7,052
OUixela AIAHI(FOIFE §) 82,247
—JlEs 78,8802 x5 x120 47,328
— S| 2,000 5 » 120 1,200
—24tl 4,0003 x5 *120& 2,400
—F5=4 78,880 x5 »27 10,649
—ReRd+E 78,880 x5& 162 6.311
— o x==g 84,880 x5 H 6L 2,547
—SEFHI 300,000 x5 +23] 3,000
—4UEE= 73,432,000 *12% 8,812
OTUAE S2AL 124 36,813




SN BETRD
B x2E 2
el RESA=SI S (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—JlZ2=s 90,3903 *1H*199 17,988
—uSH| 2,000 x1& 199 398
—=4| 4,000 x 12 %199 796
—F5=4 90,3003 1 »52& 4,701
—ReRd+E 90,3003 18 x16& 1,447
—AAxe 96,302 x1& 156 1,446
—HE=JH 300,000 x12H 23] 600
—AEEE 31,718,000 *12% 3,807
L EE R
18,0802 x1&*20A1 2t 122 4,340
— AL L= 100,000& 1 »2& 200
—S2AL £elEt 90,0002 1+ 1K D
OFUAE Zeld 21| 101,649
—JlEs 84,4503 x3Hx 199! 50,417
— St 2,000 %3 »199 1,194
—=4| 4,0002 32 *199! 2,388
—F5=4 84,4503 x38 »52&! 13,175
—Fa5d+E 84,4502 x3& » 16 4,04
— ¢ x==g 90,4503 x3& 152 4,071
—ZEFHI 300,000 x32H+23] 1,800
—4eEe 89,311,002 %12% 0,718
— ARl RS g
16,9602 x3E *20Al 2t 122 12,212
—XclE fIM= 150,000 x3& +3& 1,350
—Zcld A8t 90,0002 *3H 270
O7UAE SAHAL HEY Z&|
150,000 4 600
201 et 3| 95,557 74,953 20,604
01 At22t2l] 72,857 63,653 9,204
OFHZE 1= 230,000& »33H 7,590
OZEHRLE M 18,0002 %2, 1002 37,800
OFUAY 4258 7
5,000,000& *14] 5,000
TELMA=
120,000« 12& 1,440
S g SEHI(SY)
8,0002 88 +0&~ 123 6,912
O 88 Z278 29
14,115,000& 14,115
02 S3=gHl 16,700 11,300 5,400
O=uUAsdg 3524l 500,000& * 122 6,000
S MYLH (HESEHHASH)
10,700,000 * 14| 10,700
03 A= SHI 6,000 0 6,000




SN BETRD
B x2E 2
el RESA=SI S (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O=-Alz HE3Z MsUl=
6,000,000& 12 6,000
202 04dl 17,060 21,140 /4,080
01 2L AL 17,060 21,140 4,080
OZATE ASAH(HE, =F) N=FHB 0l
16,6662 x2H 22 +63] 400
O=ExMeg A 320,000& »50H 16,000
OHAAT YDEO| =7
20,0002 %332 +13] 660
303 Zaf= 28,200 28,200
01 Z&3 28,200 28,200
ONFFHI2Y BEXE
700,000 18I x23] 25,200
OHAAE HEX A8
3,000,000& *14] 3,000
HEH SXME 23 1,528,275 1,494,195 34,080
201 er23| 1,528,275 1,494,195 34,080
04 XFE=SANM A ZY] 1,528,275 1,494,195 34,080
Oded SXHE 24
1,435,000 *1,065H 1,528,275
At 272,79 356,988 /84,189
101 21AH| 35,3% 34,233 1,161
04 JIZtN2Z2XNSE+ 35,3%4 34,233 1,161
OFAtZel(F34) Al 33,282
—JlEs 84,4503 x1H 242 20,437
— D= 2, 00021 +124+2422 484
— 2| 4,0002! 1% <2422 968
—=54y 84, 45021124512 4,307
—S3HY4Y 84,4502 12162 1,362
—FuaRLy 26, 67021%124+12 127
—oixt gt 90,4501 %124 %102 95
—HEEIH| 300, 000241 %23 600
—aREE 29,180,00024*12% 3,502
JIZHRER 1= Y
150,0003 18 »4& 600
OFAIZ2I(H4) LAIAS Q12|
84,4503 x 1 »25L 2,112
201 fer= 3| 137,405 147,755 210,350
01 AtR2t2|HI 122,740 127,090 A4,350
O=71 7 (FArzel)
10,0002 %401+ 13l 400
OZII U (FArzel)
10,0003 #4001 *13] 400
OAMEE S§F MR
12,0002 312 #1055 3,720




SN BN
H: UX2H 7
el HNE=d=X SA (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
OFA2E2L 25,260
—HAASHI(H53IAAI-EOIP)
500,000 53| 2,500
—HARR| A2E 7Y
1,666,666 * 122 20,000
—YRM R AE 120,00024* 124 1,440
—gxa A7 2 240,000 *3SET 720
—YEA FHL)| URE XS
50,0002 * 1224 600
OBA BAR2|(2Y 484, R2F S)
20,000,0008! 144 20,000
OFAHA 22X 1% 2
150,000+ 124 x4 600
OYHHSEH(EH) 72,360
—y= 60,0008 *424*1192 28,560
—== 60,0002 2% *365 43,800
02 SZ2%| 14,665 20,665 28,000
OZW22AAE RN E4
2,150,0008 =42 8,600
OFAHZOHAH| AIAE QX 24
338,700 * 122 4,085
OFAF (CV SRS 2,000,000 14! 2,000
401 AlZHIL S THY| 100,000 100,000
01 Al&H 100,000 100,000
OCIXIEY HAICHH AlAE 1%
100,000,000 *14] 100,000
IR =SXTE X 87,040 86,400 640
201 Yer2 | 26,400 16,400 10,000
01 Al 22| 16,400 6,400 10,000
ONBL2A XH24g
1,000,000 42| 4,000
OZ2R =X AIRA 294
200,00024* 124 2,400
O3 dz23l 93
10,000,000 14! 10,000
03 A2 | 10,000 10,000 0
OZ2¥ TAIBIE B0t U3l
10,000,000 14] 10,000
202 Oit| 60,000 60,000
04 =XIH01 bl 60,000 60,000
OZ2 22Y A o
2,000,0002! =30 60,000
405 XHAHE SH| 640 640
01 IHHL S EH S| 640 640
OZ2ALZ AR 4, ofx ¢ 640
— A 420,000 *17H 420




SN HPTAD
g =g 28
el RESYsEN A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| —ax 220,000 17} 220
SRA SXg N 59,400 60,200 2800
201 eet23| 22,400 12,400 10,000
01 AtR2t2|HI 12,400 2,400 10,000
OS2 X AIR4 24|
200,000& * 128 2,400
OSRAT AR SE45 u=
10,000,000 * 14! 10,000
03 #AL2 | 10,000 10,000 0
OB2RLE HSHS
10,000,000& x 12l 10,000
202 048l 30,000 30,000
04 =Xl=todb] 30,000 30,000
OB 22Y LA o4
2,000,0002 *15H 30,000
303 Zal= 5,000 15,000 10,000
01 Za= 5,000 15,000 10,000
OZRALA |25 5,000,000 14 5,000
405 AHatE = 2,000 2,800 A800
01 ML ESFSHI 2,000 2,800 A800
OBRA X AR4 LEZ 7Y
2,000,000 %14 2,000
JIE=E2e 147,399 213,836 66,437
201 et 3| 4,780 20,180 15,400
01 AtR2tc|Hl 4,780 20,180 A15,400
OJI=8 BIKOIE EH4E
70,0002 x2EH #23] 280
OJIga &= 1,100,000 #2002 2,200
OHZRINAAS EHAST
70,0008 x2EH+53] 700
OJIEsa =23+78 200,000 +82] 1,600
202 04| 4,680 4,680
01 =LHO LI 4,680 4,680
OJ152 el € Xk S(8%)
130,000 x38 * 12 4,680
207 ARl 70,000 106,640 A\36,640
02 MAHHEHI 70,000 106,640 A\36,640
29|22 2234 U OXEs 89
70,000,000 * 14 70,000
308 AtXIEHMSOIE 67,939 80,136 A12,197
07 AX 2L FE= 3,250 0 3,250
020248 Js=2]ILEAAY NEs 28I
3,250,000 *14] 3,250
18 SIS0t & A AS A 64,689 80,136 A15,447




DA BEXAD
g =g 28
el RESYsEN A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OE=JIS2CIANAY S& sX2cl
64,689,000& » 14 64,689
MEHES A2 1,668,975 2,505,168 N\836,193
S 23,920
o 1,645,055
sSAHER =8 60,042 73,596 13,554
== 18,974
o 41,068
101 e124d| 11,608 10,370 1,238
< 1,851
T 9,757
M ORINZZ2NSE S 11,608 10,370 1,238
OAFHM AL JI2EHI2 2 At 7,556
—S2clAt & ZARZEIL 2IRY
81,9002 +22 282 +70% 3,211
—glEew ol
78,8802 x2H x 182 *7(fh 1,988
A& 2e [k 912
78,8803 *1H 282 +7(f% 1,547
—28= 6,745,000 *12% 810
020243 Het=L At A 4,052
— AR QIR Y
81,8403 2 »22 3,601
< 1,851
s 1,750
— AR 282
3,601,0002 %12.5% 451
201 fer= 3| 48,434 63,226 AN14,792
== 17,123
o 31,311
01 AtR2telbl 48,434 63,226 AN14,792
OsSAEg2t 40,0003 90 3,600
OMIHMZEAIR S8l
78,9503 x5 x26 2 x7(f% 7,185
OASHEAIY ESEAFE wSH|
6,000 x5 +252 *70% 525
020245 MetSZ A RIAN 210AM g2t
40,0003 645 2,560
020248 HMetSZ A2l AL ZALESE 7
16,0003 20 320
Q20248 Met= AelZAR == 26,505
— XA 78,8302 x18H ~ 16 22,718
== 11,359
[Ea 11,359
— AR 78,8808 x4 12 3,787




2A:

PSRL N IOD_?IE‘?% -8
©elr JAEES A2 (EEEE))
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
= 1,84
= 1,893
O20243 M2t=T A AL EellE 7
6,000 *8107H 2 4,860
T 2,430
[ 2,430
Q20248 Met=S AL ZAL A ES P
4,000 %1874 72
= 36
= 36
O20243 MUH=T AR ZAF ZALE 70l
1,000& *2,407= 2,407
& 1,204
i 1,203
O20243 Met=T AIZIZAN EEE EdIIE
80,0003 *5IH 2~ 400
= 200
= 200
HYFES 29 739,980 1,757,813 21,017,833
201 L2 | 326,770 321,679 5,091
01 AtR2telt] 126,623 126,370 253
Ogg 2ZEYNH 7 84,662
—SHHALUA2022 BH=ALA H2HALE R
88,0402 *3000H4 26,412
—MSLI|A GAS HZ2HALEH
263, 2203 *2084 54,750
—LEX HUMNEA
17,500 x2007H 2~ 3,500
OBATEY N 2L 25,441
—PCE Al H2AAERA
27,5002 *800H 22,000
—KHIE Al iR
430, 100& +87H 3,441
Oehs AZEHNH 72 7,600
—SHANHE(CAD) H2AIEH
550,000& * 1004 5,500
— AFRIH & & (Photoshop) H2HALE &
500,000 *374 1,500
—CIXFOIE (ILLUSTRATOR) H 2FAE
600,000 14 600
OuX PC Y UHERF AR ¢
20,0002 1604 3,200
OF=)| gtz 50,0003+ 12& 600
OMeIEEEs E288 7Y
800,000&*13] 800
OHYHIS2E JRFA SHHI(SH)
8,000 x5 x99« 123 4,320




A BHXE D
Hu: Tt

B . O (B1H) - NIRALY - BAS ofl b0 A
02 B22ZH| 200, 147 195,309
Ottsgts (A XH) SAIL2H|
1,655, 100& 128 19,862
OB0tHIE MAEH SXIE22=H]
1,325,000« 122 15,900
Oo2uet A 2.0(S/W) X242
845,000 *4& 3,380
Oo2Liet 24 2.0(H/W) SXI224=H|
1,396,000 »4& 5,584
O2Liet M 2.0 HSAIAE X2 4=H|
1,111,340 «4 & 4,446
O2Liet M 2.0 UARX SXIE24=H|
460,800 & x4 & 1,844
OHESZEAEE HERKZAD RANE4HI
1,376, 100& x 128 16,514
OCRIHUYAIZ A2 EIAAE SXE2H|
244 5002 x 128 2,934
OLL2EHFEH RAESH]
1,650,000& 1228 19,800
Odgsty SAIE| 39%6,300& 122 4,756
O22a JIASAH SXE24=H|
1,026,000& x 128 12,312
OWPS(LEXERAZX]) SAE2=H|
245 0002 128 2,940
OBZI|A0HH 22IAIAE SXIE 2|
430,000 x 128 5,160
OPCCIEEASSIAIAE SXE4H|
333,3403 x 12& 4,001
OIMRIABEE) | S2CANAE RAE2H|
559, 7002 128 6,717
OUIEHT HEZUR|IAAE(NAC) SXIE2=H|
580,000« 12& 6,960
OAEXHBAIAE X2 4=H|
135,000& x 128 1,620
ONMSs#ELY S22 A|AE SXE4
i 110,000 * 12& 1,320
Q|29 ZIQIBIXIAIAE(IPS) KX E2=H|
281,600 12& 3,380
ORe HER3 E8Z2H0U AIAE KA
Z=H| 103, 100 +9& 928
OMeIEE JEE SXE4=H|
295,5903 128 3,548
QxS HE Sel&E(ZEHOIX) |22
2,004,000 *12& 24,048
OxIotE HE Fel&E(ZEHO0IX) =oQl AFE
=3 30,000& x921 270
OXHZ HE ST (BHOIX) 2o A=L
SSLAIE 2 250,000 x14 250




2A:
PSR
ool

SA - ZE . BR() - HRAR - BES of v G o HIDE2
OxtZ UE FelH(SHOIX) 2l&olN
HA AIES 125,000& * 122 1,500
Ozt 22t A2t 012 (=-AlZ2t)
3,771,620 +8E 30,173
202 04| 7,800 7,800
01 =LHOLI 7,800 7,800
OPCEZ 2 LIESIT TH| B2 (&%)
130, 00024 x224 » 122 3,120
OMOIEE W HPEOr AE| B2 (ZH)
130,000 x3&* 12 4,680
308 AtXIEMSOIE 123,410 110,820 12,590
18 S| 2SO ZB &HASAIE 123,410 110,820 12,590
OJI= XXM BE2ESHA &t A (a2
HYg2oEd) 5,000,000& 12} 5,000
OXNLHISSAIAHE MBIAOAT 29 =
XlZeld| 7,000,000 12 7,000
OXNAEH s3SIt & MoHSPAILE =
Al2ell 89,000,000& *12] 89,000
O2LetAIAY MPIAHAD 2EXE
AZSW sA2eldl 22,410,000 x13] 22,410
405 AHAHE S 282,000 568,514 A276,514
01 TR =S F=H 282,000 558,514 N276,514
OZRH FL(UHHMFS) 232,000
—=X 1,200,000 *160CH 192,000
—2UH 250,000 *160CH 40,000
OgaAEH 2 50,000,000& »14! 50,000
a3 0l 24 6,000 5,800 200
201 Ler23 | 1,000 800 200
03 Ar=EHI 1,000 800 200
O30t dARX
1,000,000 %13 1,000
301 EtE N = 2,000 2,000
11 #AIAHIXIZ S 2,000 2,000
OH=Z30IE us % 22AFA
2,000,000& 2,000
307 212+01& 3,000 3,000
02 B AAHE L 3,000 3,000
OEsuF AKX 3,000,000& *14] 3,000
ZEs0le T2t |4 24,610 41,114 16,504
= 4,946
= 19,664
307 el2tol & 24,610 41,114 16,504
= 4,946
Ea 19,664
02 QIZHEAAEE X 24,610 41,114 16,504




A SEXRAD
M AXZE 8
ool MAFB SRR (ol a2
. = SIE]
SN - BB SR(BIH) - NISAY - BES O] ot e RS2
OX¥EG0IE T2 22N |4
24,610,000&x1H 24,610
& 4,946
i 19,664
HHHBSAAE 29 611,648 557,745 53,903
201 L2 | 587,012 532,869 54,143
01 AtR2eltl 13,432 10,832 2,600
OEXSAAILEY, SEEH A3 7L
4,000,000 4,000
OSda =8| etz
220,000& 123 2,640
OF=D| gtz 50,0003 *12& 600
OREVes iz 300,000& =123 3,600
O BEMNL2Y ALET 2H|(S
o) 8,000 x3H 9« 123 2,592
02 324l 573,580 502,037 51,543
O=II3ESAY eHH(2-28H2 Mz
4,000,000& 123 48,000
Oll=steds 24 AER
400,000 122 4,800

7,2003+32100 Ax 128 27,735

416,600+ 123 5,000
O1/08 dE83ld(128ld)A8E
300,000& * 122 3,600
Oousb|g datmnE=
1,700,000& « 122 20,400
Ogetdst & QY 3ld ALER
1,400,0002 «12& 16,800
OSE2XUIAIX AIAE AFZE
2,400,000& ~12& 28,800
OfIZ&EsE, ARS, MGov MS 2HE AIEZ
420,000& * 12 5,040
ODB ZEAAHE ST HAE=
250,000& * 128 3,000
Ot 2LICIAIAE 2l AIEE
350,000& * 122 4,200
O, SZF=H0/I0| 3lEALEZ
33,0003 »342| &+ 128 13,464
OAISQHY SHSANBIAY 3lHAIEZ
68,6003 840 A+ 128 6,653
OZXAZ 2HA0TH0I AAE SIWAIESZ
25,0002 3 A+ 128 900
OCtSz2 240/I0] & FHMEL NHIAY
3 AEZ 38,2003 x307H 2+ 123 140,729

OlPTue)|, ZAsue| S KA+
1,808,750« 122 21,705




2A:

BH: UXDE 2
©elr JAEES A2 (EEEE))
SA - BB -GS - MRAY - BES ofl b0 G o MimE=EY
OCQIEUIE3)| QX E4H|
79,0002 122 9,504
OPCE HB(SAEE A9X| 518)RX B2
1,635,000 * 122 19,620
OZNHEEAAHIAY U351 S22t
640,00021 %122 7,680
OYatg|o] AIAE R |
700,00094 %122 8,400
OYL(28)AILEH SXE4H|
700,00084 122 8,400
OSAEHl M S JIEF SXE4H|
51380091122 6,166
OWPS(EAIE SHANADSEI) X E4H|
712,50020% 122 8,550
OSAFE H2ALT SXE4H|
680,00024 122 8,160
ONAG(H B 22| AIAE! L CHaD|) X E 2]
179,000« 124 2,148
ozBsl X*E MY(HEYT/SMER)
== 1,045,000+ 122 12,540
OUASIE SXIE2H| 74000021122 8,880
OSBEXAIK AIAE ST E2H|
308,00094 %122 3,6%
O0SYBAIAEY SX| 22|
4,200,0002* 122 50,400
OFIOHR RXC OZAAH SX 24|
340,00094 %122 4,080
OZ2Y, SHAAH SXL4H|
250,00094 %122 3,000
OAIZOIEHY RLESAMEIAL S22
4,700,0002 %122 56,400
ontsgs HHA Al
330,00024 11 330
OIPHESHYBAIAL QX o
400,00024 12 4,800
202 01| 6,840 7,080 A240
01 Z2LH0IHI 6,840 7,080 A240
OSaoI5IIYe =X
18,0002 *2% *53] * 122 2,160
OSMNAR =FI(EZNH)
130,0002 *3% * 12 4,680
308 XHXICHHIS Ol & 17,79 17,7%
07 KXISHHIZIR 2 17,79 17,7%
OZNHEEAMHIAY MBI|MB(S-AIR
2h) 17,796,0002 17,79
NS MAILEY| S0 226,695 67,080 159,615
401 AIZHIZL S THY] 10,400 0 10,400
01 Al&H] 10,400 0 10,400




2A:

Hu: A2E P
el HAEESA 2L EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OS40I= Ediol €X € HO0lE el
10,400,000 » 14 10,400
405 KHoHFSHI 216,295 57,000 189,295
01 ML ESFSHI 216,29 57,000 159,295
Oy &Eal Wat)| S M8 20K
100,000,000 * 14! 100,000
ONS(2 22| AIAEY) =% WA
92,000,000 * 14| 92,000
OStld 28d HAYX == WAl
9,800,000 %14 9,800
OStlE 280 MAYX =X wH
1,115,000& 1300 2 14,495
oy 657,531 615,301 42,230
< 12,785
s 644,746
clotR A2 2tel 36,662 38,842 22,180
= 10,910
= 25,752
201 Let=23 | 9,130 11,010 21,880
01 At2teltl 9,130 11,010 1,880
O0IZERXNEA 5,000& *330% 1,650
OFJI2+ € E18018 S22
100,000 +24H 2,400
Oalelg =J| & 2J| Fa(otss2 22)
10,0002 *508 12l 5,080
301 EtE N = 5,712 5,712
M Hetssstis 3,600 3,600
OlUE=INIEPSEis=) 300,000 %12 3,600
11 #AIAHIXIE S 2,112 2,112 0
Oolgt =2 238 =
8,000 +x22 122 2,112
307 elztol & 21,820 22,120 A300
& 10,910
= 10,910
6 28 21,820 22,120 A300
OO0l Mol 2 I
21,820,000& x 14 21,820
= 10,910
Ea 10,910
ARSI EH 2tel 583,117 538,707 44,410
301 EtE NS 67,200 0 67,200
06 AHELHUHAEIXIR 67,200 0 67,200
OXsggags n=s-
120,000 x560H 67,200
307 elztol & 479,917 508,307 228,390




od
i’
oF
uJ

oF) R0 &0
= Mt %0
RO K X0
il K ol
T R

IF RO

=

- SHRABA) - HRAY - BES

SRR

Hed (& == XIS H 2 T oH A

2AA

(=]
[uins

IPAPN
HIE)

5

o
[uind

2|

e

Ogxl
Xl

S
N
.r_un_«/u
Ko |<
E
-
o]
0
~
WHar |
kg
RIS
R g8 88 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 8 2 8 8 8
@03545%,&%&,%54@4&54559&4.&%
[aN]
ar
<
=
« 444 «< &£ g4 4 4 « 4 4 4 4 « & 4 4 4
x 0 x x X x  x x x X x x x x X x x x x X
od oF OF oF OF oH or OF oF OF or oF 0K o or oF o or
Ew8 8= 8 g8 5-8 g & g8 8 B8 48 g8 8K 8 8
8w8 8o 8 g8 ~=8 g8 8 8 85838158 g 298 8 8

)

X3

S

=
=

LE3t

A (2L

+

=

R
ST

O




FA SHYXE D
g =g 28
el 2™ A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Os2Xa22)| 2s(Mite2s etz
3l) 4,500,000 *14] 4,500
OAME2 ZEUSII(MOts2s ez XIE
) 3,000,0002 %14 33,000
OoNz2sHZ2s(MoE2s dezXal)
2,125,000& *14] 2,125
O=2s=ssH gs(Mils2s dezZXF)
6,000,000& *14] 6,000
03 PIZHNEE 22X 129,232 120,532 8,700
Ou=x=ES dotZEols 23|
11,760,000 * 14! 11,760
Odlotz MHefzelsl 23|
23,040,000 * 14| 23,040
OtteAaI2sdtzZEols 28N
30,316,000 x 14 30,316
OXtmsHddetzX e 2SN
25,516,000 * 14! 25,516
OMils2sdetzXz 28X
38,600,000 * 14 38,600
04 QIZHHAMAMH 2 & 70,960 70,260 700
OO0l storstial(xetz olZEel3l)
50,000,000& » 14 50,000
OBtEetitstal 5,600,000 *14 5,600
O=¢olste & 2,460,000 *14] 2,460
O&=33Uz= 5,400,000 * 14 5,400
Oet=EXZ0| stotsi=
7,500,000 14 7,500
402 2I2F X201 & 36,000 30,400 5,600
01 RIEN S AL E X (XHMITHR) 36,000 30,400 5,600
OXEd8l =2 JIs2
12,000,000 *39H 2 36,000
Asgdll 29 24,000 24,000 0
301 EtE NS 14,000 24,000 10,000
06 AHELHUHALEIXIZ 10,000 24,000 14,000
OXtsgdUdeal =gyl
5,000,000& *12] 5,000
O0d XedHUce 23yl
5,000,000& *12 5,000
11 AALRHIXIRS 4,000 0 4,000
Oz2z6H stertizl 4,000,000 * 14 4,000
307 elztol & 10,000 10,000
04 QIZHHAMAIRH 2 X 10,000 10,000
OXEdecgs eitsSizl
10,000,000& » 14 10,000
MOFS A =Xt = 10,002 10,002 0

in

750




DA BEXAD
g =g 28
el Dy (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 9,252
301 EtE NS 10,002 10,002 0
=S 750
s 9,252
o stsdstia 1,500 1,500 0
OMOISRIEX R4 &&=z
1,500,000 *14] 1,500
= 750
s 750
11 dALEBIXIE S 8,502 8,502 0
O&=MOE X=X 2
225,000 20 4,500
OMOIE s¥u=s & He=k MOE X
At CHE 66,7002 ~60 4,002
lAEE & SAAMY 3,750 3,750 0
== 1,125
= 2,625
201 er23| 3,750 3,750 0
= 1,125
[Ea 2,625
03 A= SHI 3,750 3,750 0
O2+Fcl 2ldsl 28
3,750,000 %14 3,750
s 1,125
s 2,625
gasalzel 1,369,647 1,458,625 88,978
& 28,600
= 1,341,047
SE2NLE2SE 1,369,647 1,458,625 A\88,978
= 28,600
o 1,341,047
201 er2 3| 530,401 531,053 NB52
01 AtR2telHl 13,648 14,528 A880
OSEZNHE Zel T2y EW 72
200,000 *43] 800
OSALEX, MEH s 228 7L
680,000 432 2,720
O3J18=D| gtz
100,000 =22 * 12K 2,400
OHMYE sl 2old A 2
6,000,000 * 14 6,000
OWCIVSEZ MUY HRFE SH|(SH)
8,000 x2&»x 02« 123 1,728
02 S5=2g4l 516,753 516,525 228




SN HPTAD
M IAX=2E 28
Tl AAEAIRER (Hol: &)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
OSE2MAE HERZ BotAIAE X2
2=t 4,018,500 42| 16,074
O HZeIAIAE S E4=H|
3,739,500& #4221 14,958
OgMEE 2HoIdA & SEH2HH SV |AIE
= 4,944 5002 *4=D| 19,778
OSE2MHE FAaBtE S/W L SH2ZA 8
=S 4,465,500 42| 17,862
OXNEZUHAEH & DID IPWall SXIE==HI
2,543,500 *4=2 | 10,174
OCCTV AEL|X SAIE4=H|
3,705,000&*4=D| 14,820
OgAal 2 SSHAAE X2 4|
1,861,750 x4 0| 7,447
QOUPS SXI1E4=H| 270,000& x4 0| 1,080
OoetdH2t = CCTVIthI2H SXIE4=H]
4,950,000 *4=D| 19,800
OXIolAl 2l ({2l0] 2HHEZ CCTV RAE+
4,800,000 42| 19,200
OCCTVE M /3l & S XIHI 120,000& *103] 1,200
OCCNVE E3IHd AIES
23,000,000& 12 276,000
OSERHA ®INBE L ZEAER
1,800,000& =128 21,600
oorseE= CCTvatiict S XI22=H|
50,000,000 & *1A! 50,000
OXteu=g CCIVEI A S
250,000 12 3,000
oorsgte = CCTVathIeH 8IIAIE S
22,000 *Q0H A+ 1228 23,760
202 04| 3,120 3,120
01 =2LHM Y| 3,120 3,120
OSS2MHE 2IEA(EH)
130,000& 2 x 128 3,120
307 S1Zto| & 530,676 543,252 N 12,576
05 QIZtREZ 530,676 543,252 N 12,576
OCCTVSEH & MIHIE BIZIRE 2H
44 223,000& 128 530,676
401 A& H|ILE0HY] 143,000 263,000 A 120,000
& 28,600
= 114,400
01 Al&H| 143,000 263,000 A 120,000
og-& CCTvatniet &xl
13,000,000& x 110 A& 143,000
= 28,600
= 114,400
405 KA SHI 162,450 9%6,600 65,850




SN HPTAD
g =g 28
el Fasalae (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 AL =S F=HI 162,450 96,600 65,850
OCt=Y& & CCTVIthiet FIHE X
12,100,000 *57H 2 60,500
OXISE DI2YHEY SSRZIAAE 2
=X 30,000,000 *14! 30,000
OZHAE HMYE BAMH wH P
16,000,000 = 1CH 16,000
OZNIHE S =2 £5 Wi &
5,950,000& 14 5,950
OS2 == SHANH wH P&
50,000, 0002 = 1CH 50,000
OlchXIgrd w=J|et &5 870,113 866,99 3,117
ALy Aeg 23 477,400 474,520 2,880
NgEs2E =4 477,400 474,520 2,880
201 et23| 209,600 266,000 A56,400
01 At22te|Hl 209,600 266,000 56,400
Osg € & A5 USHl Xa
96,000,000 *14] 96,000
OS2X+ O12tCi0| 620,000 »80H 49,600
O3& X+ SZ0t3HaI0] 600,000& »50H 30,000
OUASEE NEee HEus
250, 0002 *20H <23 10,000
OXMuE ZAt=E 500,000 *62| 3,000
ODIYHE=S 1S 300, 0002 x35E <22 21,000
202 04| 237,800 178,520 59,280
01 SLHoIH 12,800 10,520 2,280
OZ2& w0l 416,660 <123 5,000
OZAIZ SRE LA B0t w=
200,000 %15 3,000
O2AMAISHHI 20,0008 +73| 12 1,680
O32R¥ Us=+2 & 32Nz 8(8Y)
130,000& x2&* 123 3,120
05 SR W0 225,000 168,000 57,000
Os8& u=s oyl 18,750,000& «12& 225,000
307 el2to| & 30,000 30,000
05 212+ =S 30,000 30,000
OXoHIA SOt 24
30,000,000 *14! 30,000
lotast= 29 368,307 332,680 25,627
Hotysi= 29 368,307 332,680 25,627
101 e124d| 41,580 40,932 648
M ORINZZ2NSE S 41,580 40,932 648
Odletdst= JI2tMl Zcl& el 38,941
—JIZ2= 84,4503 x 1 #2472 20,860
-5+ 84,4502 x1&»52& 4,392




DA HHXAD
33 DHNES ws)le &S
el Zotdst= 24 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SCEETIES=] 84,4502 12 162 1,362
L] 2000212 x2472 4%
— 34| 4,000 122472 988
— Y EH| 300, 00021%1%+25] 600
R EE R
16,9602 x 1 *15A1 2t 123 3,063
—oRaeey
5,655 x 1 #2A 2H+102 « 122 1,358
—gxt=g 90,4503 18 %15 1,357
—5L22=+HE 135,680« 1&» 1 136
—4AUEE= 34,590,000 * 12 *12% 4,151
—Xc|E M= 100,000 *1& =23 200
OzlotHsl= Xld A 1= 1,337
—JlEs 84,4502 x 18 x 10! 845
-5+ 84,4502 x1H 2 169
— S| 2,000& 1810 20
—24tl 4,000& 1 +10& 40
—A22IZ2RE
16,9602« 1 * 1A 2+ 10 170
—ORt22+E
5,655 1 *1AIZHx 10 57
—USMIEEE 1,301,000& *2.75% 6
Odletast=s IxMA & T3+ 2] 1,302
—JlEs 84,4502 x2H 7 1,183
— S| 2,000 2 +7 28
—24tl 4,0003 <28 +7 56
—NEMIEE = 1,267,0002%2.75% 35
201 fet=3| 144,166 137,098 7,068
01 AtR2t2|HI 42,516 45,048 N2,532
Odlotyst= AIRESH|
320,000 * 122 3,840
OSsgll gxt= 220,000& «10H* 12 2,640
OFE =] 300,000 62 1,800
O=4E= bl 430,000& %52 2,150
OFAM2eIES 7 424,000 123 5,088
OSEXT & SHot=
2,230,000 *14] 2,230
OgAd g Ee =g
70,0002 x4 *13] 280
O ZAF, Zeld AMUSH|
50,0002 x4 *13] 200
Oulz, 81Xl s 7Y 1,000,000& %12 1,000
Odltll & )| itz
220,000 x 122 2,640




A HEX2
2 OliXEs Ws)|g &5
24

Chelr ZotEet= (St &)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
OFstz LR L MEA (1A
4,900,00021% 14! 4,900
OB 28 2 IHE AIE]
800,0002*13] 800
ORQIAHA A2
200,0002!* 122 2,400
Ozl ssE
250, 000! * 122 3,000
OAYOIMEAN S22
245,000+ 122 2,940
OMIIGHHAYB ST
220,000+ 122 2,640
OBRE Z2|Al, HAE 2M=7Y
100, 0002 x4 2 23] 800
ONIoHEsts HAREX FH|(Z)
8,000 2 x92 x 12 1,728
O - 2Z3Y(BY)
60,0002 x2%* 122 1,440
® 32294 101,650 92,050 9,600
OAOIE B 3|H| 50,0002 %13 50
OFst= ®M)IQ3 3,300,0002* 122 39,600
OBtz Mot Q2
800,000+ 122 9,600
OFstz AR 1,100,000+ 122 13,200
OFst= M3t Y Jolge
600, 000! * 122 7,200
oEsxzel| 1,500,0002!* 122 18,000
OIS X2/ 2,000,0002 x4 8,000
OUT S SAFY 22
3,500,000 % 14! 3,500
O2AIDHIRH 22l 2,500,00021% 14! 2,500
200 01| 3,120 3,120
01 2U0ib 3,120 3,120
OF st DO (E5H)
130, 0002 x2% * 122 3,120
301 LPrE N2 142,471 144,130 A 1,659
14 JIEtBAE 142,471 144,130 A 1,659
OUAHY 2HAIHIZ 2,0002! 68 * 160 21,760
OUAM SAIZ HE P(1g, 228)
4,0002 %30 +562 * 120% 8,064
OUAY ZAIE HE 7e(38~122)
4,0002 <68 +3012 * 120% 98,247
OUAY A58t A
120,0002 x252 2603 14,400
308 KXIEHHISOIH 770 0 770
13 B2 SOICHEHE A= I ETALS I 770 0 770




2A:

SHE X2 0t

33 DHNES ws)le &S
ool dotdsts 2Y (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OYUAY 28 d2g8l K=
770,000 12 770
401 AIZHIX R0 21,000 21,000
01 AlZH| 21,000 21,000
OXQIHEIS Yo DA
21,000,000 *14! 21,000
405 KHaHE SH 5,200 7,400 22,200
01 AL =S F=H 5,200 7,400 A2,200
OA M o|T 7l
150,000 +20H 3,000
OgArd &0 Fe 1,100,000 *2CH 2,200
Tl gl 34,406 59,796 225,390
tolsryg =9 20,210 6,000 14,210
201 fer= 3| 20,210 6,000 14,210
01 Al 22IH| 20,210 6,000 14,210
ontolste 20,000,000/ +14! 20,000
SIS EEE
70,0002 *12]+34 210
FOIXRIME 2S 14,196 53,7% A39,600
201 er2&| 13,140 13,140 0
01 At2teltl 3,140 3,140 0
OXOIRAEAS S
20,0003 11 ~122 2,640
O=oUTAAZEE SZIH M
100,000 +5& 500
03 Ar=EHI 10,000 10,000 0
OFDINRIAY A2 DS
10,000,000& * 12} 10,000
301 EtE N = 1,056 1,0%
11 #AIAHIXIZ S 1,056 1,056
O=F2UAXEos =2 288 A
8,000 x11&x123] 1,056
QU SHN 2= 206,806 856,327 649,521
= 37,000
[Ea 169,806
ddsiglls 29 206,806 856,327 649,521
= 37,000
o 169,806
gdstiglls 29 129,306 124,827 4,479
== 10,000
o 119,306
201 =3 20,318 18,760 1,558
01 At22t2l] 13,918 12,360 1,558




od
i’
oF
uJ

K 30
- 0H

=3[!
EEAR
oF ME M_H_
= ol ol
R0 20 X0
60 B0 B0
oK

IF RO

=

R (R S8
<< ol
|_Jr_u ™™
Klo
E
F=)
g AEEEE HE ‘SEENE
A |2 > |2 > S S © o
e © R 8|8 S S 8
o
LikEd
RIS
S 8 8 § 85 § 588 B[S 5 85585 E5585 E(55E5REE BEB
wo © © o Fldia o dlglg 8§ 8|98l KwewY 8|8 <Sg
al
<
b=
H H H H
I T W B0 ol ] W < 2 =
Toox ¥ H 9 X S ? 8 = o X
L L oy 3 @ % g 5 = 0 % %
Dﬁﬁ 8¥8 mwomz ol g 8 & 0 R0 WM g g
- [aV] * x
5 |28 w8 3 Bg S g ® S ; 8 3
N S N o_.__b, m < mAm w 4_.m_,
i e > WS s 3l
= |=R = mwuﬂ% =<
Ik ur oﬂc
= - 0
- Ko A
= i I
ol = H
¥ 2 g _
rw._ w = @ nd %
=< D o 5]
R ul 5|5 i) 30 | &) mT
RO = ~ o) =3
x SIS = S 5




od
i’
oF
uJ

K 30
- 0H

=3[!
EEAR
oF ME M_H_
= ol ol
R0 20 X0
60 B0 B0
oK

IF RO

=

-

KIO

Hlw

A165
A165

165

165

10,000

A3,000

A3,000

A7,000

AT7,000

5,009,434

5,099,434

HMEE
Ofl &k2h

29,060

29,060

57,500

7,000

7,000

50,500

50,500

2,871,929

2,871,929

Ofl &F2H

275
110
165
275

110
165

275
29,225

9,690
19,535
29,225

iy

H

29,225

9,690
19,535
47,500

H

Mt

Iy

17,000
30,500

4,000

1,600
2,400
4,000

iy

rH

4,000

1,600
2,400

43,500

H

W

15,400
28,100

43,500

43,500

iy

15,400
28,100

7,971,363

H

Iy

1,387,902
6,363,461

M

220,000

7,971,363

CH

A

1,387,902
6,363,461

rH

- HyS

- SRA(3) - HIRAEY

S - B

01 2L AL

202 04|

)0
Ujo
el

oF
J
A
1o
Il

ol
X0

3

25,000 * 111

no
20
H

t

14 JIEt

Jt

=
—

g(=2bl

A 2 Al

of

29,225,000 & x 14!

4,000, 0002 %14l

01 AtR2telb]

o
0
H

s

14 JIEt

43,500,000 14

220,000

CH




od
i’
oF
uJ

4]

=

0fr

7

<N 70

= KD

E% oK
.0

= 0

=

=

%0 i OfF

%0 B0 1=

IF RO

=

b ] ] N (R ] 218 ] 3
SR « « SIS RY < (<= < <
|8 |8 |3 et e gk SHEE
KO | ==
E
F=)
N 8 8 BB < 218 S 3
S @< @< <= el < <
P R = |® 3E s |8
Hﬁ v
E
RIS
BYoIBIEB 8 8 882 888 BBV S8 8888 8 8 88 8|18 888 8
© N ¥ ([(¥ © 9|5 AR < e Q2 e Y N[99 9 <9 QI <2 < < e < LI Q@ 2= <
[SCTNS — — — N~ < o O — MO N NN © (<O 2N B B [oN] Lo D O O | [e0)
g8 8la¢ e = ¥ o2 293 e = ®I1BES 8 ¥ S8 ggvzEe =
Zr ~N — © Y —
<
=3
WH H H W WH
o} [ < [ ol 8! &0 < < < < < &l <
X S X S N S ¥ X * X * x X =~
BoS ® -2 2 S i W oW W oW W ¢
o = ;B Zg  § | g wE | EEE £&y :
olﬁ_v, > | Ye] [aV] D > > > > > > 5
Y s & 8 RS T w S g 8 8 888 ,
: S % =dl | g g5 g sels g
31 = -z = 8r S = a8 o
= 2 m W o ol - w ) .
F Kr 7 = ) = = %) =
< - & 10 = 2 o 0H i il
. AT [ 3D 3D :H_ al ol |ro ;m_| ”c._|_ _Il_
=S W How %0 K ] §=x oo 8 4w Ky H
o} oF 0 0 oF K = - S - M oo
oF ol al = = 31 O 5 Wl <t 5 ior bt [ sy
3 5 5 @ = ol ol 3 = RO g 2 k0 2 0 RO m_m._ =
. e 30 o R W m_mﬂw [ = 0 g o or om0 ol w0 | i) 20 ol
= |0 0y moR ROl ol % K S K& I®mmn = <X WV R ID|s R0 OF
KK il | o OF o ar .mﬁ_w 0 5| W o5 SJKH|sl s @l ol ol ol of o) 3 |=) N
RO | ol =3 3 R RS |z E o RO DK R T R RZ|D o o
. e — — O O O O O al= O » O 8|5 O O O O O O I~ o O
H o o o O (@) o () (@]
N 3r la¥} « & &
A




QA HHXAD
Hu: H=s ne=X A
o9l DR ¥EY DIN (cre:xigl)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 9,000
s 9,000
OuF=Al HERD XA
60,000,000 * 14 60,000
OotitusI|2 Sdat =278 A&
40,000,000& *14] 40,000
OX=2 S&stw K2 A
10,000,000 * 14| 10,000
308 AXIHSOIA 1,345,419 1,363,006 A17,587
= 31,812
Ea 1,313,607
08 W=J |20t 2 1,132,600 1,154,900 A22,300
Ox& € Ussd sdHEsast N
70,000,000& * 14! 70,000
OLSsd Wi -H|
20,000,000& * 14| 20,000
Ounstig A58 nsSI(S2AIY)
430,000,000 * 14 430,000
Ou g Hz2d| 2t X
40,000,000& *14] 40,000
OXZHAEM I U JRHE 2% X2
45,000,000 * 14 45,000
OstM QMRS 98t QISEAT 2T
! 20,000,000& x 14 20,000
Ooglt= st 22X
119,000,000 * 14! 119,000
OdetE N MASE S4H X2
75,000,000& *14] 75,000
OdetsEEE X+ 2EAH
90,000,000& * 14 90,000
OJ08 S0 2X WAL XIZ AL
42,200,000 *14] 42,200
OsZERFs SsHA 28 N2
30,000,000& *10H 2~ 30,000
OSd3tl S3]d AL
33,000,000 x14] 33,000
O&=2 g sdAE 15,000,000& 15,000
OJI=8 S0 XNAAMS(ZHIFIt 16,360
) 62,400,000 * 14| 62,400
S 13,812
= 48,588
Os&ERs 243 N2
5,000,000& *14] 5,000
Os&Rs 243 2=Hgd &
200,000« 151204 2 36,000
[ 18,000
Ea 18,000
10 A2 7 UFHSEIH HIHES 212,819 208,106 4,713




SN SETRD
Hu: H=s ne=X A
ol WEHAE XEE WS (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OnSsn 2AUR UL 222
6.,468,652,00021%3.29% 212,819
401 Al&EI L2 CHE] 3,653,000 0 3,653,000
< 1,300,000
2 2,353,000
01 Al&H| 3,653,000 0 3,653,000
OSERE NSHRE HEANE ZLAY
3,653,000,000& *14] 3,653,000
== 1,300,000
o 2,353,000
et stt=HE Ol K 1,000 1,000 0
= 500
= 500
301 EtE NS 1,000 1,000 0
= 500
Ea 500
M Hstssstis 1,000 1,000 0
Oustd stxt= thE Ol XA
1,000,000 *14] 1,000
== 500
[ 500
SIS otlis s X 6,500 13,000 26,500
301 LEIE NS 6,500 13,000 26,500
o4 gstsdstis 6,500 13,000 26,500
O2e usstd stltg KA
1,300,000 6% 6,500
st deor™dl A& 320,000 350,000 30,000
301 EtE N = 320,000 350,000 30,000
14 JIEt2 a3 320,000 350,000 /30,000
OZIQHD ThEH MEOHEH| XIRAY
1,000,000 320 320,000
KISALSIOF 8HH 2S00t RelZet 2E(9IE)( 220,000 180,000 40,000
T ASAEUEIIS)
CH 220,000
307 @I2to1 & 170,000 130,000 40,000
CH 170,000
02 2B HAIHE & 170,000 130,000 40,000
OZLEFY ATZX[0| 2E (2 NLEALE
ug213) 170,000,000 *14] 170,000
CH 170,000
308 AHXIEMSOIH 50,000 50,000 0
CH 50,000
08 w=J |20t 2 X 50,000 50,000 0




FA SHYXIE 0
Hu: H=s ne=X A
o9l DR ¥EY DIN (cre:xigl)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O DR SUAMAZ 2H(2 XA
te213) 50,000,000& » 14 50,000
CH 50,000
AH2IJH(HFXE L) 15,870,458 12,660,363 3,210,095
QI 2HH(HE X2 D) 15,808,792 12,586,155 3,222,637
I 2| (AN ) 15,808,792 12,586,155 3,222,637
101 @1A4H| 3,267,542 3,176,556 90,986
01 2= 2,611,773 2,935,926 324,153
OAIZtel 22 277,8%
—6=2 12,5312« 13 +50A| 2+ 123 97,742
7= 11,3192« 11 +B0A 2+ 123 74,706
FeUE 12,5313 x2Z+110A1 2+ 123 33,082
—8= 10, 16223 x5 #50A[ 2+ 122 30,486
—9= 9,620 x6H+50A 2+ 123 34,632
— XIS A A
12,0782 x1&*50A1 2t 122 7,247
OXMSIH&HI 277,895,000& *2. 5% 6,948
O8tati= 2,326,930,000& * 14 2,326,930
02 JIet&R 2= 253,560 86,798 166,762
OAlIZtel 22+¢ 37,204
—HI (3 A
11,8371 *50A1 2t 122 7,103
— I (3F)
10,5562 x2& *50A1 2+ 123 12,668
— 23 E (=)
9,6852 x3H*B0A| 2+ 123 17,433
Odst= ORt22+¢ 16,427
— I (3 A
3,946 x 1 +BA| 2t 162« 123 6,062
— 23 (3F)
3,519 1 +BAI2x 162 123 5,406
-3 E(=3)
3,228 1 +BAI2t* 162+ 123 4,959
OFslx L2 (KR=SFL 28) 21,662
— I (3 A
95, 1482« 1H+72x 122 7,993
-3 E(3E)
84,8583 x1H 7L+ 12& 7,129
— I (=3)
77,8513« 172U x 122 6,540
OXIH &bl 75,293,000& %2. 5% 1,883
OFEZE 122d RE=3
2,300,000,000& *1.65% 37,950
OZEZZE % HYAMEES A Hha0is
138,433,390 & *14] 138,434
03 SRH(RINAHA) 222+ 267,209 38,832 228,377




2A:

Mz Y SAAH|(HH XKD
e QIE2AH|(HFXIKL) (CH9: /M)
S B SR (BI) - HISAY - BAS Ofl by G o MimE=EY
OAIZIRl 224 34,843
—24 HiMa
19,6573 x 1Hx15A 2Hx 128 3,539
—2Ra i
20,030 1P x15A| 2+ 122 3,606
—23 244
20,4252 18 x15A| 2+ 122 3,677
—ME 2D AHIA EEXE
19,6573 x 1Hx15A 2Hx 128 3,539
~BAEAR
18,6153 x 1H*15A 2tx 128 3,351
— A AR (Rst=x)
19, 1102 x1H+15A] 2tx 128 3,440
—msts R AUSE)
18,2842 x 1H*15A] 2tx 128 3,292
—&st== X2|2 (85 2)
18,6453 x 1 *15A] 2tx 128 3,357
—&st= HkA}
19,4612 x1H+15A] 2tx 128 3,503
—&st= A& 2te]
19,6573 x1H*15A] 2tx 128 3,539
OzgaRLY 1,556
—24= HIAA 157,256 *1H* 1! 158
—822 24 160, 242R 1 1! 161
—=& 254 163,400 x 11 164
—Met2aoHIA SEXNE
157,256 *1H %1 158
—EHAIE AR 148,917& *»1H %1 149
—HAEAT (T
152,878& 1 x1! 153
—Z&st= el (4ee)
146,275 12 1L 147
—Z&st= Xel2(8E )
151,558& *1H *1! 152
—&st= HAAL 155,62 1 x1! 156
—&st= Ald2te] 157,256 & *1H %1 158
O32RE(RI|HF) 22X a2
230,809, 380& * 1A 230,810
4 J1tHNI22sES 135,000 115,000 20,000
OJI2HMZ22A El& =2
5,000,000& 184 90,000
OJI2HNZ22X D2AHBEEREH2
40,000,000& 40,000
OJI2HMIZ22 A 24X 24|
5,000,000 5,000
M4 HA=RE2E 12,540,750 9,409,099 3,131,651
01 H22E= 9,154,911 6,341,162 2,813,749




od
i’
oF
uJ

=~
iR
= ol
RO K<
60 RO
=0
.
= R0 D
oF 80 B0
= OH OH
K0 KO &r
60 w0 ol
<&

IF RO

=

% [QV) [ Ne) (AN e
8 5 EEIE! g|8
=0 = alo|w|w o |m
o S 24 4|< SRS
E
E=)
[eN]
3 @ g8I8  |R|E|B|B g8
st g 8 SRR < |
o — —
il
RIS
Lo ()] L0 W — <
88 8 82525 5 ¥3 § 8888 8 § & 8|88 8|8|8|8|8 &8 &38| 8
5 § £33 g S5 B 0§85 8 B = O clslgld =8 Slele o
S R = = = =
e
S
® oW W g & 8 & s oy 85 & o x Ol L. oL
S5 8 3 5 s : 23 ¢ 2 T g T dE T z
C 2 o 2 wn & m o w o * o < o x o x xS <
o (8¢ ¢ ¢ £ 5w & 3 88 & ® ¥ g g $L 23 g
N < 3 — T > =) o x - ) 3 Ok 8 5 >
m (83 8 8 ¢ Fm ¥ § §8 B 5 & “ g s T° ”
X o = . -~ o g N s w d & o > N
m &ﬁ_l X w Al M~ X [aN] X
ol ~® gy ® o oy ® & -8
= o g B~ 8 g g 8 i #o ©
I+ - ~ KRG - > > g0 & —
= ~ = moo® . 0F8 ~ .8 .8 .21 I = z
. ® o o O ﬂ%m R Rl o5 RIS RN o5 M <0 B0 0 0
= |- =0 o mow ® Mo o oF OF™ OF R 80 oy ~ o -
= lmwn 6 Gy o5 My o6 omowo@owm w2 \Bg oo 2| | B
orrm m mrmwm owm T oM K @ @ omw ¥ K ~ wooE g 3 G
F |PP%w w o mgwH H Emow W @ owm W R o ow =@ 0 Mg K K0
oo 3 oy HH o KW M ST ok kO ma |[FEs|s® Wa o 5
“ loomm 2 A~ o Lo % Ywmao o w w0l 5 |®R|n|lg A~ Ww® & = o
o [E D M R o xR o Kauws NoN K med R¥emo R = =
_.__A_Mo m«m :mwm _:A_IH S m_ mw Jﬁ x_o mT mw .rmo m_ﬂ Ko o1 M_ gm = ﬂT i |oF OF RO|®0 2ok OF W& Wlm|s K
: = r o R [ ST (N - I T IV = s T - < (RSl (=l Tl
HOOOO%O MOOO o O O O %%O mmommO O O OWMO
H__u <] ORI R eV
W~
=




o
il
T
uJ

. IS |B|8|8
Ul R 3WO olo
KI0 < 215915 glg 8
m_ ol | < <
D < N
MSEREIEIE
LHar Q2|2 © | @ 3|8 3
< < | < mno, S
RIE =T N
AN |
NS S
EQ%MMM
GRBSRRES BRE 58
& i Al |5 m,o,mmmm
w Y]
oun@ of ol
X g ol
oir o g5 g z T
X0 S m% a2 S 3 W
B < c8 3z 8 =
51 N g ~ I 8
= Eli ® )
I 0 8
'3 5 ®
~ o e
—_— o
ﬂ - D M_Q 0
j 7 R =
_wﬂ\ __MT__M_.) w;m/ﬁ__” _ﬂn o
=+ o 0O R T T - 3
vl wmﬂmﬂMI L) ok x_x_w_m
IR IAEIE 5 W o o K KEKE K
= [*|o (R 3 |m & UK SR T L A
%0 D_.HH__HDO@E%:.% = R = |a 3 & &
. @ﬁTﬁTHm_Ea%g s W s 8 g )
X %MOWOEANM_;H% 5|3 R KE [0y O K- KE
i Ris|ls © © 0 | ®0 o (0 A & R
WS el e -
QN %O




